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Dow Jones
$

DAX
      €

��������

12 Eylül 2003 9.471 � 3.508 � 12.715 �
15 Eylül 2003 9.448 � 3.516 � 12.662 �
16 Eylül 2003 9.567 � 3.564 � 13.005 �
17 Eylül 2003 9.545 � 3.561 � 12.958 �
18 Eylül 2003 9.659 � 3.612 � 13.419 �
19 Eylül 2003 9.644 � 3.578 � 13.663 �
22 Eylül 2003 9.535 � 3.456 � 13.845 �
23 Eylül 2003 9.576 � 3.411 � 14.031 �
24 Eylül 2003 9.425 � 3.307 � 13.798 �
25 Eylül 2003 9.343 � 3.326 � 13.935 �
26 Eylül 2003 9.313 � 3.324 � 13.758 �
29 Eylül 2003 9.380 � 3.323 � 13.255 �
30 Eylül 2003 9.283 � 3.257 � 13.055 �
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